Lecture 5

In this lecture, we will talk about: 108 Cnaaldl (5% g ) 128
Content words
Function/grammatical words

- Words are divided into two categories: Do ) st Gl

(1) Content Words. 6 sinall CilalS

(2) Grammatical (Function) Words (Aiada M1 4 sl <)
- Function words are closed class words. LSl yo Adlae 458 a5 el Cailla

- Content words are open class words (new words are being added in every language).

Aal JS ) et o) S aaa lalS) HlalK) pa s glag 408 gl AL R
90 A9 Ay $a

(1) Content Words

(1) Content Words:

Content words are words that have meaning in that they refer to objects, events and abstract concepts.

They are words we would look up in a dictionary, such as "lamp," "computer," "drove."

Content words are marked as being characteristic of particular social, ethnic, and regional dialects and of
particular contexts.

33y aalia s laal ¢alual ) jady e cllic Gl s s giaal) cilals

"drove" "computer" "Lamp" Jie (sl 8 lgie Sy oad QLS a g
Orre Bl (s 51 5 (e il 5 (8 je ¢ aaiane Clagd palliad (e b jlicly LSl (5 sias
For example, how do you say ‘a car’ in the following dialects of Arabic:

o Egyptian dialect: 9900 gad) Aaglll 5 4yl daglll 8 "5 Ll 3l a1l
o Saudi dialect: Sobe dw e

New content words are constantly added to the English language, and
Old content words constantly leave the language as they become obsolete (outdated).

Gl Bl paiuly 4ie GLlS (i Jam)el y35 il o ginall SLalS o 45 Rlai¥) dalll 3 ) jpainly s GlalS 4l L’ anall 6 giaall S
A 3alaiy)
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- Therefore, we refer to content words as an "open" class.

- Nouns, verbs, adjectives, and adverbs are content parts of speech.

G sine sl 3al 0a s Jad) 5 lieall (Juad¥) esland) 1( ) peinds uan cilalS L) Cilimiyia side 58S (5 ginall cilalS ) i Lils Gl

L)
- - Content words include: aga
- Content word Example
- Nouns John, room, answer, table
- Adjectives happy, new, large, grey
- Full verbs search, grow, hold, have
- Adverbs really, completely , slowly
- Numerals one, thousand, first
- Interjections eh, ugh, phew, well
- yes/no answers yes, no (as answers)

(2)Grammatical (Function) Words

(2) Grammatical (Function) Words: (Aaida 1) ) 4 sail) Ll

- Function words are words that exist to explain or create grammatical or structural relationships into
which the content words may fit.

- They are often best defined by their function.
- Words like "of," "the," "to," they" have little meaning on their own.

- Such function words are much fewer in number and generally do not change (English adds and omits
content words, not function words).

5 sinall ga a3 55 28 ) LS A ) g cliSle oL o) Lea i) il 3 s skl gl LIS

il s 5ol e el i pm Jumdl (0 5S Le Llle

-‘)P ‘5'”5 &M ém ||Of’|| "the," "tO," they" dlﬂ QL\LAN‘

LS Lape 4 5ai¥) Aalll 8 (5 ginall UK 8 Caday g Ciling) ki Y e Losas 5 23al) b L3S0 J8 s dida ol il o clalS)
(a5 DU Aals 5l

- Therefore, we refer to function words as a "closed" class.

L) e Al 2l Aada ) S N a ol
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- A person cannot easily invent a new function word; e.g. a new preposition or conjunction.
A el i gl s all Copa Dl auaa ARl ARk 5 IS A g (add Y S Y
Now, look at the following: O | V=L
Egypt
in the

the spring

- Like many people, the first time you see the graphic above, you read ‘Egypt in the spring’.
- Look again: it reads ‘Egypt in the the spring’.

- Here, your expectation of one definite article (the) affects your perception of the existence of two
definite articles.

- The trick does not work if we write ‘Egypt Egypt in the spring’ or ‘Egypt in the spring spring’ (i.e.
repeating the content words).

- The key is to repeat a function word because we tend to take words like ‘the’ for granted.
- Note that: if we took the function words out of speech, it would be hard to figure out what was going on.
‘Egypt in the spring’. Lis| & a s <o g silud) JAall (8 ST 3 y0a5 Jgl e alil) (o SN Jia
Egypt in the the spring’. Ul AL Ledaad G gu ; haill sale e
O e (the cay =il 3131 Jlad s 5 Jaadl old SIS ol e 80l culd the saal s iy ya3 51l clllia o (e bilad 55 clia

(wlall (s sina ) S5) ‘Egypt in the spring spring’ s ‘Eqypt Egypt in the spring’ Wils svie Jaai Y sUadll 5 deaall oda

A e el the Jie ClalS 385 ) daed WY duiids ol el ke ) g ~lidall g
(6 e A el e (0 sSms 4ld clladl) (e Al ol LS L3A) 131 ;) BaY
Example: can you guess what the following structure means: 4l daall e i le (pedd e Ja
‘took function words speech hard figure what going on.’
- yes, it means the first sentence above: BV AdaaDlall 8 Alaadl el Le i & cand
‘If we took the function words out of speech, it would be  hard to figure out what was going on.’

- But it was difficult to understand it because we removed all the function words that show the
relationships between words.

LS (G A8l W a5 Al Al sl LK S L UL 31LY L S Lgagd oS0
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- Pronouns, prepositions, conjunctions, determiners, demonstratives (e.g. this, those), certain
adverbs (e.g. very & not) and certain verbs (those with little or no meaning; e.g. be, must or should)
are some function parts of speech.

be, must or ) J=dYl s s (very&not) JissYl ass (this, those)dis sl sl 5 calaaaall ¢ gl jill ccadaall g jall o a ¢ ilaal)
(Uaal) o) el (aey D sda < (ShOUId

- Function words include: aga
Function words Examples
Prepositions of, at, in, without, by, between
Pronouns he, they, anybody, it, one
Conjunctions and, when, while, although, or
Modal verbs may, must, should, can, must, ought, need, etc.
Auxiliary verbs Be (am, is, are), have, do
Particles no (e.g. no one) not, nor, as

Differences

- Note: The same lexical item can function as either content or function word, depending on its function
in an utterance.

A il s e slaie VU AWl (5 ginaS o Ayl oS Lal Jamy O (panaall eaial) (il Sy 14BN

Example 1:
| have come to see you "have" is a function word &k (auxiliary verb) aclua Jaé
| have three apples "have" is a content Ssina word (full verb) J=
Example 2:
One has one's principles "one" is a function b word (pronoun) =
| have one apple "one" is a content S Fina word (numeral) 2
Example 2:
I have no more money "no" is a function &b word (a negative particle)
No, | am not coming "no" is a content ssis= word (Yes/No answer)
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Practice
Practice (1):
- Identify each of the following words as a function or content word, and give the reason:
tall adjective-content word is (in: ‘he is playing’) auxiliary word- function word
your  pronoun-function word but conjunction- function word
go verb- content word dream verb- content word
and conjunction- function word stream verb- content word

happily adverb — content word

Practice (2):

- Classify the underlined words in the following passage into content VS function words:

‘Sara Ferguson stared out the window of the café. She could not stop thinking about her dad. She was
living at home with him, attending college full time. Last night her dad was complaining of chest pain. It really
scared her. She had never thought about losing him. Sara was four when her mom died. Her dad had always
been there for her. Now she could not stop worrying. He was only 49. She needed him.’

More practice:

- Classify the words in the following passages into content VS function words:

‘Sara watched people go in and out of the shoe store across the street. It reminded her of when she
was a little girl. Sara started working when she was 10 yrs old. Every Saturday, she walked to work with her
dad. He owned a shoe shop in Los Angeles. Sara liked hanging out with her dad.’

‘She also enjoyed helping the customers pick out shoes. Her dad paid $1.50 for every pair of shoes she
sold. The most money she ever made in one day was $15.00. Sara’s dad taught her how to budget her
money carefully. Each week, she wrote down how many pairs of shoes she sold. She counted all her money.
Then Sara put 75% in a savings account that her dad opened for her. She kept 25% to spend.’
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Lecture 6
In this lecture, we will talk about: 108 Eyanld) (9 Cigu ual) 128 (A
Lexicon Soall anaall - pald — LI Slae (10 e
Productivity AaliY) —aas JSG a0d00 Baaa S 2 e 3 )
Blocking (s oo Gle palile — il

Lexicon and Productivity
Lexicon:

- Alexicon refers to the inventory (list) of lexical items, seen as part of a native speaker’s knowledge of
his or her language.

() Aal) Gl S50l 38 jaall (e 63 gl e (53Rl 138 Ul cenaall jealiadl (e (@) 0553l ) anaall s

- Thus, a lexicon is the mental dictionary that language users must be equipped with, in addition to the
grammatical rules of their language.

Al A jall Ay sl ae ) gl (N ALLYL dalll Greddine ae Jeae 055 O i lie aane 4 (lexicon) Sl

- For example, English speakers know that the word ‘subject’ can be used as a verb and as a noun,
depending on the way we pronounce each.

Lagie S 3l 43 e 3oV and S 5 JeiS a3l (el (5o (SUDJECE) 2 () plas 2 bV Aa1 isial) ¢l G e
saa e

Not all words one speaker knows are also known by other speakers.
oA (fiaaie (ol Liagl 485 jre ()5S0 Lty A LSl S ) (5 )5 el G

- Thus, the mental dictionary (lexicon) of one speaker is never completely identical to any other
speaker’s mental lexicon.

LY e ja) Gaata gl gal ial) anaall Lalai Gilay Y 3l 5 Gaasia (53 (lexicon) liad) aaaall ¢ il
- The lexicon contains more than words.
LS 2 e e S ey (lexicon) Sial) asal)
- For example, affixes, such as ‘-er’ can be assumed to be in the lexicon.
il anaall e (65 (b Ll ) (Saal) (0 e Jie (affixes) Galsll Jial daw e
- Speakers know and understand such affixes and readily attach them to new forms.

s JSE el LSl gl i 5 Gl 0 Bl 3 ple e ¢ ghanial
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- Complex language forms (e.g. affixed inflected forms like ‘talk-s, go-es, etc.’) are also included in the
lexicon.

s Al ) go-es  stlak-s ;AU Al aey Jedll Cojen (S5 ; Jie 1 el anall 3] b sabeall JISEY) Jadii s

- For example, a speaker of English must know the third person singular of verbs (e.g. talk-s, go-es, say-
s, speak-s, play-s, etc.) because it does not follow the normal rules of English.

Ag a1 ARl Aotal) ) gl ai Y LY JladY) (e CllA) 3 jaall sl ale e ¢S o) Gang 4 3l Aalll Chanie (JUa Jaas e
- Consider also a famous complex word (used in Irish political discussion in the mid-nineteenth century):
‘anti-dis-establish-ment-ari-an-ism’
(e il () Canatie 8 Auaal V) dpuland) 38Ul b a1 5 gl 3aaal) Sl Lyl Jals

- The pieces of this word together do not tell much about its meaning (opposition to denying special state
recognition of a particular religion).

(opposition to denying special state recognition of a particular religion)li=ae (0 I mia 53 Y Lae 4l o8 ¢l 32l

- If you are a speaker of English who happen to know and use his word, then it must be stored in your
lexicon.

Sl palall el anaal) 8 453 (5585 () camg 1)) adlalS aadiing g aley 31 3 SalaV) Al Saate e i€ 1)
- This is because its meaning cannot straightforwardly be determined from the meaning of its parts.
e JSG ) Srar o) ) e 2083 o) S Y Sl O s 138

- In sum, the lexicon includes all the linguistic forms: (regular, irregular, simple, complex, normal, not
normal, etc.) that speakers know and use.

(L e 5 31 5l ) Aall) Al Lgaiinny 5 Lgd ymy ) g sall) JISEY) JS Jady el anmall 1Aiadal)
- Aslong as such forms are used, they must be stored in the mental dictionary (the lexicon).
.2l axall (the lexicon) (Haall (s seldll (8 45 3 (5585 O g Leild = 3laill 038 aladiul &) Lalal
Neologism : Baaa adadl

- When a word that does not exist in the lexicon is created through a morphological rule, we call it:
neologism.

ngMneologismLg_)icé&kj‘q)al\zqcléd)dww}a&!\gt@a);}‘yusgua\eigu:;c
Example:  e-mailer

- If this neologism is used once and never again, we call it: occasionalism.

occasionalism. dsa e Lede (3lhai I 3,30 5 ARG ol g Baa) 95 e o) Jadlll 138 aladiul &5 13)

Syntax and Morphology Page 7



Productivity

Productivity:

- A productive rule is the one we can use frequently to form new words.

- Some affixes are often used to create new words, whereas others are less often used, or not used at all
for this purpose.

- The property of an affix to be used to coin (invent) new complex words is referred to as the
productivity of that affix.

Baaa S Q] ) e (S8 Ll LiSay 3aclE o 14aliY) sacldl)
LY e Gl 3] aadid ¥ gl Gla¥) e S (8 AY) () aladiad J8 G 8 e Sl Y aadind L Wile GBal sl (g
43l o3d productivity 4tV aul — Ll HLi g Baaa 3a8ea dalS (SH) dlaaS 223505 (3al lll ilSlies

- Not all affixes possess this property to the same degree, some affixes do not possess it at all.

- For example, suffix ‘-th’ (as in leng-th) can only attach to a small number of specified words, but cannot
attach to any other words beyond that set.

- This suffix can therefore be considered unproductive.
LY e Gllia Y claad ey ol Guiiy CilSliaad) s34 @lliad Gal Sl JS Ca

elli Cald 3 ke 5 I Lgiilal (S coNNOtoSls Sl (e dane JiE axe 8 Laid Lgidlial (S [@ng-th 8 WS th 4@ Jial due e
Ac saadll

unproductive. 4aiia e 483 oda jliie) Say Sl

- Even among affixes that can in principle be used to coin new words, there seem to be some that are
more productive than others.

_u)ﬂ;—.QAa,,;.us\)3'5\@\ﬂ\u@émQ\ﬁﬁ‘sgq;awsctu‘yu”semo\iw\q;wus%gm@;\}muﬁé;

- For example, the suffix ‘-ness’ (as cute-ness) gives rise to many more new words than, for example, the
suffix ‘-ish’ (as in fool-ish):

‘happiness, sadness, homelessness, ..... etc.’

- We can think of the degree of productivity of suffixes and prefixes according to the following shape:
ness -ize -mis -ee -eer -al -th -ter

Goodness globalize misrepresent invitee profiteer refusal warmth laughter

More productive less productive

- The more you go towards the left, you get more productive affixes 4dle il Je Jiass |l olaa¥l

- The more you go towards the right, you get less productive affixes 4Ll il Je Joass L olaiVl

Syntax and Morphology Page 8



Blocking

Blocking:

- blocking is the phenomenon whereby the existence of a word with a particular meaning inhibits the
morphological derivation of another word with precisely that meaning.

L Gilladll nall pe (5 a0 AlST 8 puall LBl pia Ly (el e e Sl 0 ga s ) Cua 3 alls 54 blocking )
Example:
- ‘Cutter’is blocked by the existence of the lexical item ‘knife’

- Thatis, people do not normally refer to the tool that they use to cut things as ‘cutter’ (from the verb ‘cut’)
since there is already another word that gives that meaning; i.e. ‘knife’.

‘knife’ & eazall jaiall J8 e 43 53a0 ‘Cutter’:Jis

O G 'KNife’ e oAl Al @llia Gl 4Y (out’ Jedll (e ) ahal@l Ll Ao oludV) adadl L sardiany 3101 () sale el ¥ Gelalle Ul
. el 138 calac

In the same way:

- The ‘day after today’ is blocked by the existence of the lexical item ‘tomorrow.’
- The ‘day before today’ is blocked by the existence of the lexical item ‘yesterday.’

- ‘This day’is blocked by the existence of the lexical item ‘foday’, unless in a particular context like in the
sentence:

1 remember this day when | met him'
- ‘stealer’ is blocked by the existence of ‘thief’.
AR yhal) (el
‘tomOorrow.” s aaxs u 255 e nalis ‘day after today -
‘yesterday.’ s seaze 23 e i The ‘day before today’
(e dlaadll e are 3w (S V) 'fOday’ anme 2 2525 e aiis This day’
1 remember this day when | met him’

‘thief. s aaze 225 Jo ais ‘stealer
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